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CBT Practice test model answers

Accounts Preparation II (APII)

Practice assessment 4
Section 1
Task 1.1
[image: image2.png](a) Find the closing balance on the sales ledger control account for the year ended 31 March 20X7.

Sales ledger control account

vi[vi[vi[v][v]

v

[Sales day-book 189054 |Bank 179158[q]
[Balance bia 16835[Sales retums day-book 038[q]
[Discounts allowed 2730[q]

[Batance cia 17985 4]

[«

205889 205889

(b) Find the drawings figure by preparing a summarised bank account for the year ended 31 March 20X7..

Bank.

vilvi[vi[v][vi[v][v][v]

v

[Sales ledger control account 179158 |Balance bid. 1200[q]
[Caital 5000 [Wages 15320(q]
[General expenses 15410[q]

[Purchases ledger control account 107228[q]

VAT 8650q]

[Prawings 27500[q]

[Batance cia 7052[q]

[«

84158 184158/





Task 1.2

[image: image3.png](a) Calculate the amount by which the capital balance has changed as a result of the transaction.

=

‘The cashbook is showing a debit balance before and after the transaction is entered.

Which of the following transactions could account for the changes in assets and liabiities shown in the.
table above? Choose ONE answer.

A bank receiptirom a credit customer

A bank receipt for an injection of capital

A bank payment to a credit supplier

Abank payment for proprietors drawings





[image: image4.png](b) Calculate the value of closing inventory for the year ended 31 March 20X7.

£ [6400

The gross sales margin is 40%.

(€) Calculate the value of sales for the year ended 31 March 20X7.

= [108000






Task 1.2 continued

[image: image5.png](d) For each source of information, drag across the ONE missing figure that it will help to find.
Note: you do not have sufficient information to find all of the missing figures.

“The missing figures:

Your sources of information:
Physical inventory count ‘Bank statement Mark-up percentage
Closing inventory Cash purchases Total sales

Trade receivables

Profitfor the year





Task 2.1

[image: image6.png](a) Calculate the sales revenue figure to be included in the income statement for Onyx.

£ [215000

(b) Calculate the purchases figure to be included in the income statement for Onyx.

£ [138326





Task 2.1, continued

[image: image7.png]Onyx Trading
Income statement for the year ended 31 March 20X7

[Sales revenue 215000)
[opening inventory 17450

[Purchases 136325

[Closing inventory 18200

[Cost of goods sold 135576

[Gross profit 79424
[other income:

[Discounts received n 1070
lLess:

[Raministration expenses 31600

[Depreciation charges 3000

[Rent 5400

[Wages 12000

[Total expenses 62000

[Proft /Toss for the year 18494|





Task 2.1, continued

[image: image8.png](d) Calculate the balance on the capital account as at 31 March 20X7..

Capital as at31 March 20x7: £ [28000

You have been asked to prepare a set of financial statements from an inital trial balance.
“The totals are as follows:

« Dr £400,000
- Cre4sioss

() What do you do next? Choose ONE option from the following:

‘Open a suspense account with a credit balance of £51984.

Checkthe additions are correct.

Inserta profitfigure of £51,984 on the credit side.

Insert a profitfigure of £51,984 on the debit side





Task 2.2

[image: image9.png](a) Show the entries required to introduce the goodwill into the partnership accounting records on
1 October 20X6.

Amount

Debit  Credit

(b) Complete the following statements regarding Sam's position in the partnership at the end of the day
on 1 October 20X6.

S shar o e prfts and osses nthe partnership has.[Gecrsssea @] ferthe crange nne

partnership agreement.

Sams capal acoount saance has aerthe change inthe partnrshipagreement





Task 2.2, continued

[image: image10.png]{c) Which ONE of the following is a key component of partnership financial statements prepared by the
accountant?

Partnership statement of financial position

Partnership Act 1890

Partnership agreement

Partnership bank statement





Task 2.3

[image: image11.png]Currentaccounts.

[Dranings 38000] 40000 Balance bld 2570)
[Barance da 7243 8393 [salaries Ta000| 21000 22000
terest on capita 2650|1980 1980

[Share ofproft 22404 21ea3| 2164

[Barance a Tags 0 9

2000 as2a3| 483





Task 2.4

[image: image12.png](a) Calculate the balance of each partner's current account after sharing profits. Indicate whether these
balances are DEBIT or CREDIT (the answer fields are not case sensitive).

Balance Debit  Credit

Currentaccount Jon £ 22678 [creait

Currentaccount Pat £ 14748 [creat





Task 2.4, continued
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[image: image14.png][Financed by: Jon Pat Total
[Capital accounts 200 14000 35000
[Curent accounts 2678 aras 7425

Wawrs| 28748 73428
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